
Yalooniq (Yajilin)
Draw a single loop through all available cells. The loop must avoid clue cells and shaded cells.  The 
clue cells indicate how many cells must be shaded in the direction of the arrow.  

Shaded cells may or may not be clued. Shaded cells must not be horizontally or vertically adjacent. 

Tip: any cells that are not shaded must be part of the loop, so mark them with a dot.

This puzzle may be printed or copied solely for personal use. © Puzzler Media and PuzLogical, 2011.  
This puzzle may not be reproduced in any other form without the written consent of the publishers.  
Visit www.puzlogical.com for more information.
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